
Solve Me!
Show your work and include

the "therefore" statement

A rectangle, with length and width of 42 cm and 14
cm respectively, has the same perimeter as a square.
Find the side length of the square.

ITania has 4 dresses and 2 pairs of shoes. How many
combinations of outfits can she make?

28 cm
15 kilograms
8
259 square m

Answers
1.
2.
3.
4.
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Concentration of salt in ocean water is 6%. How many
kilograms of salt are in 250 kilograms of the ocean
water?

What is the area of a rectangular tennis court with the
length of 23.75 m and the width of 10.92 m? Round
your answer to the nearest whole.


